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S 6,892,018 9,371,770 AN2,479,752
= 55,129
& 890,000
< 272,026
Al 5,674,863
& . =X 22 6,803,794 9,281,257 AN2,477,463
2 55,129
& 890,000
< 272,026
Al 5,586,639
& . =X =4zl 3,401,556 4,604,248 A 1,202,692
& 400,000
= 120,000
Al 2,881,556
& . =sX22 944,266 1,221,368 A277,102
101 14 dl 220,066 169,538 50,528
04 JIZHHZ2Z2XNESE S 220,066 169,538 50,528
OZAS&2el 110,033
>lles 46,7003 «621 210 58,842
D a0z 3,270,000 62! 19,620
PEEE 46,700 +6 Q1 x432 12,049
Dot 46,7003 «621 10 2,802
D2AH Y WESEZXHl 100,000 621102 6,000
DEER 10,720,000& * 14 10,720
O=Xzel 110,033
>llEs 46,7003 +621 210 58,842
> a0z 3,270,000 62! 19,620
PEsd 46,7003 «621x43 12,049
> AX =S 46,7002 «621 x 102 2,802
>4t ¥ wsSE2 X4 100,000& 621 <102 6,000
DEER 10,720,000& 14! 10,720
201 ¢4l 133,100 132,204 896
01 At 2t 2l 6,100 4,500 1,600
O1 Let==EH| 500
DEREY ¥ 2 F0 &AM
50,000& 102 500
O3 2d=¢ 5,600
DEASRAJS &N =
70,0003 102! +83] 5,600
02 =224l 127,000 127,704 AT704
O1 3323 ¥ HMA 104,600
DEEACE N 2EE 600,000 »4CH 2,400
DI HIIe= 50,0003 * 11400 2o =128 68,400
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>REBRURY BAMLRLS
100,000& »20H 200
O3 A& ZHl s Xl 2,400
D322 E FH K2
2,400,000 » 14! 2,400
O4 Xtg - det| 20,000
DAZRAH(SSEEY) 5,000,000 =2CH 10,000
DA AH (S2+4=2X) 5,000,000 2CH 10,000
202 (44l 2,400 2,400 0
01 = LH o4 1l 2,400 2,400 0
OZ2d&e g2F4 200,000 128 2,400
206 M= Hl 63,800 63,800 0
01 M= 4l 63,800 63,800 0
OZ3AN&E B2+8 XM 160,000 » 14001 2 22,400
OZ22ANEEs FWHEX 2L AH
45,0003 350 15,750
OSFANE2 T8 HE 35,000& 130 4,550
O==2 gs2el AHM(0lg) 10,000 1,000 10,000
OZXd= ANHIE H& 17,000 300 5,100
OZX&d+ YoM <X 12,000& *500H 6,000
307 glz2tol & 10,000 10,000 0
02 flZtA M2 X 10,000 10,000 0
OAIEN 2zZ=2 J3H2H 5,000,000 x23] 10,000
401 AIEHI L 2 CHYI 514,900 843,426 A 328,526
01 A& HI 514,000 843,426 A 329,426
SE=X HM=(H=H =&8)
100,000, 000& * 14! 100,000
OZ3sX &zl 100,000, 000& * 14! 100,000
O=d8 B ¢ a4 20,000
PERES B 100, 000& 2004 20,000
OZH=X +222(EF+ ®F)
24.,000,000& =14 24,000
ONEOoIZ3=0l AIEE XA
100,000,000 * 14 100,000
O2&.32=X &l 30,000,000 * 14! 30,000
OZJZeIEL(AMEAMN L 282R)
100,000, 000& * 14! 100,000
OZAUANEE fIEE B
2,000,000& *20H 4 40,000
03 AIE S THHI 900 0 900
OAE =l 100,000,000 *0.90/100 900
P2 T4 704,410 0 704,410
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Oc222 XA (EX0HLH!)
800,000, 000& = 14! 800,000
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OAl& 20| 800,000,000 x0.63/100 5,040
Je 23 x4 142,800 9,200 133,600
201 LBt Y| 5,000 6,800 A 1,800
01 AP 22| d| 5,000 6,800 A 1,800
O1 gbt==H| 5,000
DEQIHE A2 N2 (HR222H)
2,500,000 *23] 5,000
202 044l 1,800 2,400 A 600
01 2L Y| 1,800 2,400 A 600
O B2IAXH g2 150,000 »12& 1,800
401 AlEHIZL 2 0HY| 136,000 0 136,000
01 Al&H| 136,000 0 136,000
225 2T 3L THAHY BY
100,000,000 = 14! 100,000
OHT9S 0222 2MA Z48HE 249
36,000,000 14! 36,000
A Z2AXLH(HR222RAXH) 805,040 0 805,040
2 400,000
= 120,000
Al 285,040
401 AIEHIZL 201 Y| 805,040 0 805,040
2 400,000
= 120,000
Al 285,040
01 Al&H| 800,000 0 800,000
Ot 2IAXH 800,000,000 » 14! 800,000
2 400,000
& 120,000
Al 280,000
03 AlE £ 0HH]| 5,040 0 5,040
o222 ZAXH 204 5,040,000 x14! 5,040
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DS&EE 22 WA 2,500,000& »23| 5,000
O3 2g=¢ 1,800
PRYTH SHSAD(AFTALDR)TA +Y
150, 000& *321 x4 3] 1,800
FFEeAs =58 =4 900,000 1,000,000 A 100,000
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< 135,000
Al 315,000
401 A& HIZ 2018 900,000 1,000,000 A 100,000
& 450,000
< 135,000
Al 315,000
01 A& HI 894,330 993,700 A 99,370
Ox==d x4 894,330,000& =14 894,330
= 447,165
< 134,150
Al 313,015
03 Al 2 THHI 5,670 6,300 A 630
O==2& =4 20Ul 5,670,000 =14l 5,670
& 2,835
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Al 1,985
sdz =4 236,692 0 236,692
401 Al HIZ 2018 236,692 0 236,692
01 A& HI 235,000 0 235,000
Osstat EadllZ2 =4 235,000,000 * 14 235,000
03 Al S THHI 1,692 0 1,692
OSstat ScllZ =4 20l
235,000,000 x0.72/100 1,692
t2s =4 22 607,108 1,241,161 A 634,053
2 AW 2 2el 607,108 941,161 A 334,053
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Ozt 22 91,701
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Daad 2 WESE XU 100,000& %521 x10& 5,000
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01 Al& B 512,180 864,789 A 352,609
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Otz MxstHIs 150, 000& x5502 82,500
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92,000 5402 49,680
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OSMZ JI24 ZHAY (2. 1km)
100,000,000 = 1A! 100,000
03 Al 20| 3,227 5,732 A 2,505
Odizx2el & AT 20|
512,180,000 *0.63/100 3,227
Ol &= J11 D] 1,591,162 2,074,024 N 482,862
= 30,000
2 40,000
< 12,000
Al 1,509,162
zse & =X 22 506,626 346,011 160,615
101 Q124 H| 183,401 155,409 27,992
04 JI2ZtHIZ22NEE S 183,401 155,409 27,992
OJtzss & =x2e 183,401
>olE2s 46,7002 x10Q1 %210 98,070
> a2 3,270,000& «10¢Q! 32,700
DESY 46,7002 x 1091 %43 20,081
DAXE 46,700 x10Q1 x 10 4,670
>Dagald ¥ WEE x|
100,000 x10Q!I x10& 10,000
DEE=S 17,880,000 14l 17,880
201 gBt2Ay| 5,700 5,100 600
01 AP 2t 2| H| 5,000 5,000 0
O1 Let==H| 5,000
DO X3 ALY BOt= M &4
5,000,000& x14l 5,000
02 Z2=2=24%4| 700 100 600
O1 222 2 HA 700
DOlS3IHEA HSEX HA 50,000 *23] 100
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01 = LH o4 1l 1,800 2,400 A 600
OJzsipt 2 =X2el ALEX
150,000& 128 1,800
206 M= Hl 28,000 58,750 A 30,750
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20,000& *30& + 103l 6,000
OJt23stct, 222t AMBI(=SEHIZ)
22,000& *1,000% 22,000
401 Al HIZ 201 I 287,725 120,352 167,373
01 A& HI 285,096 119,491 165,605
Ozzd gL (FSUSR 2 38)
2,000&%17,910m" x23| 71,640
OE2Y I (LR 2 28)
8,400& +1,840= 15,456
Ofg . 8y=z2 s Wl=X 2l
30,000& *6,600m 198,000
03 AlE 2 THHI 2,629 861 1,768
Otz stet & =Xl Sl
365,096,000% *0.72/100 2,629
E2HE AHEZE AN 216,356 293,871 ATT,515
201 £B-2dH| 6,480 33,635 A27,155
01 At 22l 6,480 33,635 A27,155
o6 g1tz 6,480
PEFI.CAHETLEE EXNLUHE
100, 000& *592m" x25/ 1,000 1,480
DSHEEE HH X2 (A 0.6W)
500,000 x2CH x5 5,000
303 Z& 3 3,400 3,400 0
01 243 3,400 3,400 0
OBLZHAY 24 SUES A
680,000& +50H S2H S 3,400
401 Al HIZ 201 I 206,476 256,836 A 50,360
01 A& HI 205,000 255,000 A 50,000
OE=2H 52 8 HEZ AN
500& 200,000 100,000
OAZHE HEZ2ZL HEZ AM(ZE= IC2
10 2) 500& *150,0002 75,000
OZR (82, 3tE) 2= 300,000& *1002] 30,000
03 Al S THHI 1,476 1,836 A 360
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Oz HEZ AN 20HI
205,000,000& *0.72/100 1,476
FHUEEH A 25,000 25,000 0
401 A& HIZ 201 I 25,000 25,000 0
01 A& HI 25,000 25,000 0
OOBLIE FHBAXH(TSEY)
00& *50,0002 25,000
SAN=XH 108,212 106,172 2,040
201 £B-2dH| 10,480 10,480 0
01 At 22l 10,480 10,480 0
O1 Let==ZH| 480
DEMFLOIZEM 2 25) 40,000 +12& 480
O6 21tz 10,000
DLERESH2E = 10,000,000 * 14 10,000
202 44l 1,800 0 1,800
01 = LH o4 1l 1,800 0 1,800
OEANs= g2 =& 150,000& 128 1,800
206 M= Hl 4,500 4,500 0
01 =8l 4,500 4,500 0
OLBY ANEsE B8 ANMH(QLAH)
45,000& «100& 4,500
307 glz2tol & 30,892 30,652 240
02 RIZHE A E X 30,892 30,652 240
OAa3a 22l (29 4) 34,820m x200& *33| 20,892
Osdt=2st 2 el 2,500,000& *43| 10,000
401 AIEHI L 2 CHEI 60,540 60,540 0
01 A& Hl 60,000 60,000 0
ObtsdH =4 30,000,000& *2H A 60,000
03 Al SR THHI 540 540 0
O0t2&dH=4 208l 60,000,000& *0.90/100 540
stil= 24 241,728 0 241,728
401 AIEHI L 20 241,728 0 241,728
01 A& HI 240,000 0 240,000
Ostu= =4 60,000,000& =44 A 240,000
03 AIE 2 0HHI 1,728 0 1,728
OAlZ =TI 240,000,0002 *0.72/100 1,728
HHE sMUsE &4 50,540 805,760 AT755,220
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01 A& HI 50,000 800,000 A750,000
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DEAMX 240 22 (2E2L23)
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10,000, 000 = 1Al 10,000
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01 Al& H| 300,000 300,000 0
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oussd 29 50,000,000& x 14! 50,000
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st=3ACIUOIEH 22 18,594 5,000 13,594
101 @124 dl 13,239 0 13,239
04 DIt 22 XREES 13,239 0 13,239
Ostl=3CUHIOIH 22 13,239
>llEs 46,0003 = 121+250 11,500
DAWEE = 1,739,000& 12l 1,739
201 L2l 5,000 5,000 0
01 At 221l 5,000 5,000 0
O1 get=EHl 5,000
Petw=3CUOoH 299 5,000,000 » 14! 5,000
301 et a = 355 0 355
10 HALAHI 242 355 0 355
O W=IACIHOoIE W0l 255,000& 19! 255
OsW=3ACIHIOIE W=EE&Hl 100,000& 12! 100
St=3ACIUHOH Y (EX) 13,988 27,811 N 13,823
= 8,392
< 1,679
Al 3,917
101 14 Hl 13,239 26,478 A 13,239
= 7,943
< 1,588
Al 3,708
04 JIZHHZ2XRHEES 13,239 26,478 A 13,239
Ot =3 CUIOlH 13,239
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< 1,380
Al 3,220
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01 At 22l 394 0 394
O1 et=2Hl 394
Detw=3CUO0oH 29 =8Hl
394,000& x 14! 394
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Al 110
301 et d = 355 710 A 355
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Al 71
O£ZZAZ2Y DSEHHl 100,0008 *10! 100
2 60
o= 12
Al 28
HE2AAH (2K 88,224 90,513 A2,289
olad 2 A Y| 48,287 48,443 A 156
ol Y| (2 1) 48,287 48,443 A 156
101 @121 ] 48,287 48,443 A 156
01 = 40,685 41,198 AB513
OAZ2tZ224E 8,4762 1621 *300A| 2+ 40,685
02 JIEFR &2 %= 7,602 7,245 357
OAZt224% 8,446 x321%300A| 2+ 7,602
Jle&dl 39,937 42,070 N2,133
Jl2dd (22 ) 39,937 42,070 N2,133
201 Bt 20,637 23,880 N 3,243
01 AP 22| H| 18,513 21,780 N3,267
O1 detf=2H| 14,481
DENSIL+EH| 14,481,000& = 14! 14,481
O5 24| 4,032
> = &l 7,0002 1621 33| x12& 4,032
02 24| 2,124 2,100 24
O1 2222 2 HA 2,124
PRER2 1, 7702 x10024 128 2,124
202 044 9,600 10,800 A 1,200
01 2L I 9,600 10,800 A 1,200
OJI2ge a0yl 800,000 x12& 9,600
203 R F & 4,200 4,200 0
04 EASHEYRFAH| 4,200 4,200 0
OBA2g9g2=&8Y| 350,000 x12€ 4,200
405 KHoHFE S HI 5,500 3,190 2,310
01 JHMY 2 E F S H 5,500 3,190 2,310
ONeols(z2aaee) 750,000 =24 1,500
gEI|(Be2ce) 1,500,000 =124 1,500
oae(zgaaee) 1,500,000 =14 1,500
SRAAZAIEL S E3FY 1,000
> TV 1,000,000& = 1CH 1,000




